)

y

J

l

J'_L'-%

)

2 JK

~
{

N

w5 No.1 ([HFFRIHEX)

=
HX

(

b 3
J[AX

7K

=
13X

> ~

/

.
]

IR

A

1201

o @ =
_@_E O.TI -TJ —~
it U M
S5 O et o
S\ #Hy %
~¥O &S o =
AN 28 TP ~
| OB BT fin
A\ g St e i
th m4n OE  Hiv | &
M| __3/% .—.ﬁ@ ss/ .G/ %E_s
™| e Uy 1] A =
> 8 IxE 4o Py
RO B, R | O
SR MU SENCE N <~ B Er
AU\ 4 BRI HiE Do
_ e HOS g DA - O 2l
5o S (RN R Th e R rie
o T i (S8 o4 L) BH R o 4R
._.Em ._m = H.n/ A—Iﬁ“}j#ﬁ Jm__l._'uﬁmn___\n_m_l
BEwmS [+] \ RS S/ AWE
mRE i AT THIE'S [ 4 NN
K:%;X - I = I B EH L 3¢ AHE N
M 42 O b EEY SO ® SN
Bl 4 &+ i m 83l 1488 TN N oYYy
= a0 T= .M o EUWUEA . ARINRE
AR HOS MK SIS DRI
d 3% 8 s 2 2 2 4 BB i MUl | HR DA R
E Q] & ¥ = o o o o wu| | Kv# B NOKobv  _hairirE =
— 1 L, T o v o < o [EH, 6 |MfwEy EIlmg I
B o o o ' o mEs b ABSRKD JEEUVUE
N & « © Q@ © o u ol lxXer O AR N NESHH m
E o e © W N « O O |mEE & wmEXSLK - L &
B U NIRIRIIVH I RIK &
el R A A3 S
@Ll@@ w._nm — - -.-_I —_ | — nm
WY — X XX X _u_|

;9. 8m
{ 7kf%|% : 9. 8m
IR EERRR - 574y

s
I
N

1,000

800

WE-MILFALFBDTY,

600

REF0624F) 1%

~

10,000

1
400

+E[[X] (1/10,000) | R U= KEBT£[X (1/10,000
| |_| |—| |—|m
0 100 200

L

[

[+

. BBF0564F) J.

%] (1/10,000

GLES

UTF

BBFN544E) | &

-~

DRKEEREBRIE. SEREL T E#H S (1/10,000

—





